1
1.1

1000 ¢/ mL ;
1.2
E =-0.200v,
=120 9

MP- 1
1mg/ mL,

E = +0.500v,

1.00 g

30 min(100+10)

2.1.1

2.1.2

2.1.3

(E =-0.200v,E

0.12 g

, 643000)
1[1] ’[2]
, ; 1mg mL,
0.1mol/L 30U g/ mL; (AR) ;1x10 ® mol/L
30 mL 300 ¢/ mL 3
= - 0.300v, 50, ts=90 s, te
10mL 50 mL , 5 mL
5mL 1x10 ° mol/L , 20 mL ,
= +0.500v,Ec= - 0.400 v ,ts=100s,t; =130 s, 20)
,mg/ kg; hy — ;e — ;
My — g, my — Hg
—  (4+1) ,
+0.27 v(VS SCE) ,
(mol/L) :1.01.52.02.53.03.54.04.55.0
2.5 3.5mol/L 3 mol/L
(mol/L) 1x10°% 1.5%x10°* 2.0 x

1004 2.5x10°4 3.0x10"4 3.5x10°* 4.0x10"* 8 , ,

)

2.1.4

)

2.2

2.5x%10 * mol/L
) , ,-0.50v
Ec= - 0.400 v; , te,

te=130 s

2000 12 6



Na* 2 000

mg K" 1000 mg Ca?* 300 mg A" 0.5 mg Mg®" 100 mg Mn** 5 mg S** 2 mg Pb®" 1 mg Zn?* 2 mg

CU?* 0.2mg
2.3 , ,
1 300pg/L (r=0.998) ,
2.4
1 (n=8)
RSD 8
mg/ L % ’
5.00 23 2523 2523 23 21 25 23 5.7 0o 7 ’
10.00 4.8 5050 4.8 48 45 48 45 4.8 4.0 ,
20.00 9.5 10.0 9.7 10.0 9.5 9.7 9.7 9.5 9.7 2.1 :
RSD ,
1
2 (n=4) 3
( ) mg/ kg
mg/ kg mg/ kg %
10.00 9.83 98.3
10.00 9 42 94.2 0.02 0.019 0.018
10.00 10.23 102.3 13 2\0d 2.20
10.00 9.65 9.5 0.093 0.001 0.00
0.98 0.95 0.95
2.5 0.015 0.013 0.019
, , , 9.71 9.63 9.57
0.005 0.003 0.001
2.6 5.25 5.18 5.40
, 3 t
, (t1=0.308,P >0.05,
to=1.278,P, >0.05
[1] : (D [M]. 1992 ,82
[2] ( ) [S]. 1996 —06 —19
'R155,0614.24" 3, TS252. 2 B :1004 —8456 (2000 ) 06 —0016 —O2



